/ 6.

PRE BOARD EXAM -2 (2023-24)
CLASS 10 SCIENCE (086)

Max. Marks: 80 Time Allowed: 3 hours

General Instructions:
i. This question paper consists of 39 questions in 5 sections
ii. All questions are compulsory. However, an internal choice is provided in some questions. A student is
expected to artempt only one of these questions.
ili. Section A consists of 20 objective type questions carrying | mark each.
iv. Section B consists of 6 Very Short questions carrying 02 marks each. Answers to these questions should be
in the range of 30 to 50 wonrds.
v. Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers to these questions
should be in the range of 50 to 80 words.
vi. Section D consists of 3 Long Answer type questions carrying 05 marks each. Answers to these questions
should be in the range of 80 to 120 words.
vii. Section E consists of 3 source-based/case-based units of assessment of 04 marks each with sub-parts.

SECTION A
t appropriate option out of the four options given for each of the
0 negative mark for an incorrect response.

elationship betweer compounds given below:
“H3COCH;  (i1) CH;CH,CHO
) Isobars c) Isomers d) Homologous

@tion which of the following products are NOT formed if

) loxide and wate ¢) Carbon dioxide and lactic acid
») Carbon dioxide and alcohol d) Lactic acid and alcohol

—r = RS

conversior ﬂ‘feluctﬁmi’mgnaj to a chemical signal occurs at 1

napse ¢) Dendrite end d) Cyton | "
b A R s DIRIRE ; y —
Olecular formula CsH,; Has H — C — L
L 2 ¢) 16 covalent bonds / N\ o
d) 18 covalent bonds m - ; s
r view mirror fitted in vehicles \ \H ¢
.','.1 o | '

epending on the position of the object in front of it.
8 30U. What will be the mass of the consecutive hi gher

418U d) 56U

solution of copper sulphate. After some time, on
of the solution had changed from

¢) Blue to colourless
d) Blue to reddish brown

ale can be represented by
$2-XX d) 22-XY

c) Diesel is eco-friendly
d) LPG is eco-friendly
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QIl0 In the redox reaction

MO, 4 4HCI = MnCl; 4 AHO + Cly ]
a) MnQ); s reduced to MnCl; and HOT 1S reduced 10 ”..r‘
h) Mn(O; s reduced 10 MnCl; and HCL is axidized 10 ( 'i;,
¢) Mm LR oxidised to MnUl and HOT 18 It‘lllll‘{'li (o I!'."
4) MnO); 18 axidised to MnCly and HC 18 redueed 10 (1
| ' y hwdrogen ¢ s s ot jsh
Qil Sodam hvdrogen o arbonate is used 10 distinguis "
5y Ethanol and methanol ¢) Ethene an¢ C'hly' oic acid
) Fthanol and cthane d) FIhnnul and ethar )
Qld In following diagram identify the parts A B and ( 2 g)
sogquentially ! -ff_,..-f .
(a) cotyledon, hiunmlr and radicle / : _— (e )
(b) plumule, -adicle and cot) Jedon k i?‘.{{"a o
(c) plumule, co0) ledon and radicle Ay, Mg 2 €
(d) radicle, cotyledon and plumule | s
y ~nd on reaction wil
Q13 Which of the following will give a colourless gas tha burns with pop sourl
ditute HCI |
a) solid sodium carbonate ¢) Sodium hydroxide
b) zinc metal d) Sodium bicarbonate
to a battery will have

f resistance 2
tial difference across them when connected 1D series

ugh them when connected in series
rough them enconnccted in parallel

Ql4 Two resistors 0
(2) the same poten
(b) same CUlrCHt FEY

-

nnected 1n parallel
a) reproduction in a flower?

(c) sam ¢ current 1L
(4) au
Q1S Which ok
(2)
(b) s

(©) 1

(d)

2) ' ) Fish in a bowl d) Ocean bed

Assertion (A) and Reason (R).Answer these

s _"1

i r: : "
\ . o o e W - e rod
i 1 - Ea | r.-_-, ']a_"" I"-I'Il '(A).

t the correct T-_.5:~'-'":'-":T.'.'.i.'jfﬁ-j' of (A).

t _:;-_-.-_:r-‘ﬂ solution of sodium chloride
yroduced at cathode.

u

otype expresses even in the presence of

A copper wire, magnetic needle kept

roduced magnetic field.
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Q20 Assertion (A): Hemoglobin is not the respiratory pigment in human
Reason (R): It transports oxygen in the human body

/ SECTION R
Question No. 21 to 26 are very short answer questions
Q21 State reasons for the following
(i) Metals are good conductors of heat and electricity
(i) Addition of silver to pure gold for making ornaments
OR
When a copper wire is lefl in silver nitrate solution, it is observed that
green
(a) Explain this observation
(b) Write the balanced El.]l]ﬂ[illn 10 represent the {:hﬂnge lﬂkiﬂg Plﬂﬂe

heings

the solution turns bluish

Q22 Explain briefly how we receive a stimulus from environment and show
with a diagram.
Q23 Name the following

1) The three-carbon molecule that is formed due to breakdown of glucose during
respiration.

11) Nitrogenous waste that is removed from the blood in our kidneys.

response towards it

=
= -

itwo identical glass prisms so that a narrow beam of white light incident on
ot the second prism as white light? Draw and label the ray diagram.

gdiices a magnification of -1 on a screen placed at a distance of 50cm

/T he type of the mirror.

ro

star ce of the image from the object.
N . = OR
| displacemer ' > this wit '
is later __ig,_b_% S Ecet! t of light? Iffustrate this with the help of a diagram.

-
=+ o
g
-

bestrm

llowing situations, what happens to the rate of photosynthesis
dy days 111) Stomata get blocked
infall in the area 1v) Good manuring in the area

SECTION C
3 are short answer questions

ythe pattern of magnetic field lines of
'solenoid and  (ii) a bar magnet.

tolour when a drop of phenolphthalein indicator is added to it.
lour when drop of methyl orange is added to it. What type of
d which of these solutions A or B will have higher pH value?

ution has pH more than 7 and one salt with pH less than 7

ain, only 2J of energy was available to the peacock. How much
resent in Grass? Justify your answer.
" Frog " Snake " Peacock.

ced by following.
b) Testis ¢) Ovary ) Adrenal glangs

sous and hormonal control.

sectional view of human brain and label the following 2)
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a) Largest part of forebrain ‘
and vomiting

b) Part that controls salivation
¢) Part responsible for voluntary actions s |
o Eowopal st rms plmlulrﬂpism and gcﬂt‘rﬂplsm.

3\ Wi : ' in the t
(B) With a suitable example explain the te liance?

Q31 (i) Why is it necessary to earth the metallic casin :
(ii) What do you mean by the term short circuiting * o ver Direct C1 rent.

(iii) Write any two advantages of Alternating Curren

Q32 A small amount of quick lime is
a) Name and define the type of reaction
b) Write balanced chemical equation for
the product obtained
¢) What do you observe when you S€€ t

Q33 (i) Define the term refractive index. < 1.6 and abs
(ii) Refractive index of diamond with respect to glass 15 °- d
glass is 1.5. Find out the absolute refractive index of a diamon&.

SECTION D

Question No. 34 to 36 are long answer questions. _ :
- icity used 11 makin

Q34 A metal ‘M” which is one of the bes! -onductor of heat and electric

wires is found in nature as sulphide ore M2S?
i) Name the metal ‘M’
ii) Which process will be suitable
the balanced chemical reactions
iii)With the help of a labelled diagram,

metal. _
. s OF

L 4

g ol electric apP

that has taken place _ e
the above reaction. Wit the chemical nam

he reaction

olute refractive index of

metal M from its ore
extraction

£ electrolytic 1€

for extraction of this 2l
involved in the process of
explain the process O

fining of the

hen they are exposed (0 air. Name the substance

hmRime WITE D
BTN '.I"I__'u.

T il I 0w ke

 with tamarind juice.

e #, there is less corrosion of aluminium as

. .L_. ,: : { 9 _..:_':

etivith be reduced by chemical reduction

)35 la brown stemmed rose plant denoted by 2g

F2 progeny if plants are self-pollinated.

1 a tall plant is crossed with a short pea

ex: nples.
' pea plants that Mendelk used in his
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1 100 W at 220 V and the other 200 W at 220 V are connected (1) |
n

@ Two lamps, one ratec
olectric main supply of 220 V. Find the current drawn in each

Q30
series and (i) in paraliel to the

casc.
(b) State the law that explains the h
properties in an electrical circuit,

OR
q of a circuil consisting of a battery of 3 cells of 2V each, a
() and 30 € connected in paraliel, a plug key e

find the value of the following:
(b) Total current in the circuit

eating effect of current with respect 16 the measurable

Draw a schematic diagra
combination of three resistors of 10 £, 20
ammeter, all connected In series. Use this circuil to
(a) Current through each resistor

(¢) Total effective resistance of the circuit.

SECTION E
se-basedfduta-bﬂscd questions with sub-parts, Internal choice 18

Question NO. 37 to 39 are ca
provided in one of these sub-parts

ven below, answer the questions following them.

Q37 Based on the hints gl
HINIS:

4 as a preservative. |
sence of alkaline

on atoms; 'C' is obtained by th
manganate followed by ac idification. ‘
revented by adding Methanol, Benzene, and pyridine 10 ‘A
| ' of cone Sulphuric acid.
e of Nickel and Palladium €

e reaction Of 'A' in pre

yfAand F
shemical equations

I

the changes taking place.

-

T i il
L
the compounds formed In

: %:* ];@;;h occur in steps 2 and 5. Identify

acec uf‘i’r‘ h its next homologue.
serms are located in the flower. You have already studied the different
he reproductive parts ofa

, ens and pistil. Stamens and pistil are t
mcells. The flower may be unisexual (papaya, watermelon) when it
when it contains both stamens and

il or bisexual (Hibiscus, mustard)

stive parts of flower?
its types.

Jower?

glass sphere. One

;. sce from the other
age of an object placed in front of a mirror

surface of mirror is silvered and then coated

surface. Spherical mirrors are used to form
depends on the nature

a concave mirror and by 2

between virtual image formed by

 the headlights of a vehicle?
ew cartesian sign convention followed for mirrors.

I convex are lying on @ table. How can & person

save, and 00€
om or using any other appm'ams?
| [086])
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